(7) ZEMIEEB ORI 2 ZHEHANTHE L 5 5 FH

OFEHE — NYT= 0 DA (N)

a ARRHEAR | b.ETHEES | (@/b).HE— N Y70 A
463 35 13.2
QA TEE TR
ANFER | AFEK (b)/(a) WAEER 7= @/
(N) (a (MNb) (%) (MN(e) (N (%)
RE R 100 81 81.0 200 167 83.5
Mgl A= R 135 139 103.0 270 296 108.5
BEARAEIR 235 220 93.6 470 463 98.5
OFIRI B E K
TN R AR XEEE 4= (UN)
70 LIk 60~69 50~59 40~49 30~39 29 LI'F
EEt A
1 4 6 10 10 4
35
@) B =R
BT Z B FEH )
Hgfﬁkhlzl\ Ej]?
S sim | weEdE | @M | B A

Ml e A 2R 5 2 6 6 19 3 37
REFR 6 4 0 3 13 0 21

ait 11 6 6 9 32 3 58
OFLH#E L IEFEHE R

X5 BATEE SN | FEFEHE LN
itk A= R 22 37
REFR 13 21
&t 35 58
(%) 37.6 62.4




©7x% (BT) &8 #72EH a2 (N

% 5 ey ey | RRREE e Zof
gt AR R 7 52 15 10
REFH 73 65 4
BHLR REHK 3 3 0

At 153 120 19 14
(GBS HZE (BT) & SM545H 1 AEUE)
@A 55 (BFn 44 3 HZ3E4E)

FREEL FALAL TR REEFH(N) ELVEPER(UN)
A PR R o — FHIRT T (CRER) 21 21
HiE A A R R o — X MR (D) 17 17
s AR R — 2 | ERIRE A (rEEAD) 8 8
Hindel M A 2 HHIRT L . .
EfEaa=fr—yara—2A | (BEEEa3a2r-vay)
RB 7R HEHIRFE (REH) 73 73

At 150 150




O@NFH DOHERS

S5 5 A 1 HBIUE

FREEA B | ROTHHE | R2AE | R34E | RAFE | REFE
Mtk A= =R NFEB 135 135 135 135
NFHE 132 95 147 139
~PL S =
;E\g%g% ) 97.8 70.3 100.8 103.0
WAEER 135 270 270 270
TEEEE K 135 223 246 296
%g%ﬁ;@ 100.0 82.5 91.1 109.6
REER ANFIER 100 100 100 100 100
iggxggﬁ NFHEI 100 96 81 83 81
£ THRET | AFER 81.0
FH R4 Bk S (o) 100.0 96.0 81.0 83.0
IR ER 200 220 200 200 200
TEFEE K 213 213 174 164 167
’%g;ﬁm 106.5 96.8 87.0 82.0 83.5
EE NFER 60
NFEK 38
ANFER
75 55 (%) 63.3
NAEER 120 60 —
TEEEE K 36 32 2
g;;gggfié) 71.7 53.3 —
B SF NFER 20
AL E I NFEH 19
ANFER
Fo (%) 95.0
NAEEE 40
TEFEE K 32
IR E B
Fo L (%) 80.0
B N NFER 60
— 3 VER NFEK 71
PL TS =
NEEE 120 60 —
TEFEE K 144 81 1
INEER B
| | I (%) 120.0 135.0
TR FEE 228 228 176 230 220
FRAFIE B FEE (%) 95.0 97.0 74.8 97.8 93.6
FREREESE I 475 461 400 410 463
PRI E B FTEE (%) 99.0 97.1 85.1 87.2 98.5
BN NFEH 10 10 10 10 10
RE AL NFEE 6 5 5 5 4
2 E (=] N7 =
(2 FFaRER) %g%i/ ) 60.0 50.0 50.0 50.0 40.0
NEEE 20 20 20 20 20
EFEE K 16 11 10 9 9
e 80.0 55.5 50.0 45.0 45.0

Fe = (%)




©@iB% -

PREFA 2L Al

@5 - FREEA S (RITFL)

FRA 14 (N) 24 (N) EEION)
gt AR R 12 1 13
(ISl 1 4 5
it 13 5 18
@ R (HEE)

FRA AR (N) | HHIREE(N) | HiRE (%)
i A A 22 247 13 5.2
REFH 164 5 3.0
At 411 18 4.3

IINEUR AL D #E T

OEFE FENFEREER) &K

(5545 H 1 BEHALE)

FRA 14 (N) 24 (N) EH 0N
Ml A= R 1 18 19
B 7 0 3 3
&l 1 21 22

@2 NFAEH (25 U 1)

(5545 H 1 AEE)

FRA B3 EE (N) | A 44EE (N) | s 4EE (N)
ik A= 22 R 6 31 54
BT 1 0 0
BREWEE 7 31 54

[ VT 7 v FIzohN oS ANNFEEH]

TN 2 4EE
S0 34EPE
AN 4 R

A lifa R EE TE
HEMENeEEETE 04
BAIlBGT &HEETE 04

14

HEDINEMIRE TE 34
RAEBANEMRETHE 54
HEDINEMIRE TE 34




AR ERISE N AR

S 3HE (N)

T4 FE (N)

SF 5 HE (N)

18 11 14
S| 1 0 1
Ty rv— 25 36 56
SR ARA 9 7 6
74Uy 1 4 9
w5 6 6 3
AU Zh 4 3 17
TAYT 1 0
F— )L 2 1
TR —IV 1 1
&t 68 69 107




OuFFMRE A (N GBE 34)
o . WED TN EE FEFERI D YRIEEL
R A IR IR s | wm | R2 | R | R4

132 388 0D B P 10 A

ThHIEZEBELT . 4 HI# 36 0 0
el eeyNE [ " DA

TR 3 A 14 0 0 0
F o TA A 5H 1A — — 24
, - . A ATHE 9 A 37 A 0 0 0
RELT RS il T Do 9f | 13@m o] o] o
MR i " REEAIHE 8 A 2 JH — — 9
FEEAHE 9 A 3 » H 0 0 0
FEEAE 9 A 6 » H 0 0 0
SISMERER T [ H FEEEIHE 8 f 3 JHR — — 6
RIS 9 A 14 0 2 0
F o TA RS 11 A 1H — 4 0
HEALRT R R H = f sEEHE 9 A 3 A 0 0 0
R, FEEAE 9 A 3 7 A 0 0 0
SHILERERE i T e 9A | 14 0 0 0
& LB i i3 Fr T VEFHE | 5 A 2 H 12 30 0
YR i i3 FETFIHE 8 A 3 JE 0 0 0
i N HE i3 F T4 UHHE 12 7 | 18R — 11 0
WHTHEL TR i H AT A UHHE 3 A 1H — 62 0
B BE a5 " TR T 9 A 14 0 0 0
F v TA R 12 A 1H — — 5
s ., AEFHE 8 A | 1 0 0 0
iR e T Temme 91 | 64/ 0 0 0
SRR 9 H 14 0 0 0
PR 9 A 3 7 A 0 0 0
s " A AHE 8 H 130 0 0 0
SRR e T e 114 | 3HM 0 0 0
FEEAE 9 A 14 0 0 0
4 A3V W ST R TAUD I L E 9 A 10 H 0 0 0
IR I F R T AU R i3 FETHE 8 A 37 A 0 0 0
. o R FEEIHE 9 A 3 A 0 0 0
IR 77 IR 98 | 10m 0 0 0
. Y 7 A 14F 0 0 0
17y TRV e 124 | 2@ o] o] o
¥z K AFX U A H Y 9 A 14F 0 0 0
e b o - AHEERIHE 124 | 3HM 0 0 0
PRI e B 9A | 105K 0 0 0
TYN YR =0T 7V R AXVT i3 FETAHE 10 4 | 10 A 0 0 0
EC GE#FK) e ad i3 FETFIHE 9 H 3 38 0 0 0
AEY i [ ] AT A R 5 A 3 H — 6 0
——=F5 8 AT - S 9 A 10 H 0 0 0
F—=A+FVT N AN A=y T 9 A 14 0 0 6
aEt 48 | 115 50




